Name: , Score :

Answer key

- (Sciehtiﬁc Notation} rostive: 51

Example:
Write 3, 200 in scientific notation.

3¢2Y0"0)

We should move the decimal point 3 places to the left. So, the exponent will be 3.
3,200 = 3.2x10°

Express each number in scientific notation.

1) 625 = 6.25 x 10° 2) 4,216 = 4.216 x 10°
3) 49,603 = 4.9603 x 10° 4) 25 = 2.5x10

5) 18,569 = 1.8569 x 10* 6) 836 = 8.36 x 10°
7) 9,364 = 9.364 x 10° 8) 34,121 = 3.4121 x10°

9) 22 = 2.2x 10 10) 912 = 9,12 x 10?
11) 7,350 = 7.35 x 103 12) 4,874 = 4,874 x 10°
13) 62,503 = 6.2503 x 10* 14) 13,058 = 1.3058 x 10*




Name: 2.

Score:
Answer key
- @cientiﬁc Notation) rositive: £52
Example:
Write 5, 100 in scientific notation.
5¢1Y0Y0)
We should move the decimal point 3 places to the left. So, the exponent will be 3.
5,100 = 5.1x10°
Express each number in scientific notation.
1) 41,214 = 4.1214x10° 2) 5,256 = 5.256 x 10°
3) 6,142 = 6.142 x 10° 4) 915 = 9.15 x 102
5) 32,514 = 3.2514 x10* 6) 36 = 3.6x10
7) 1,490 = 1.49 x 10° 8) 12,568 = 1.2568 x 10*
9) 82 = 8.2x10 10) 62,569 = 6.2569 x 10°
11) 27,254 = 2.7254 x 10* 12) 87,200 = 8.72 x 10°
13) 62,503 = 6.2503 x 10* 14) 4,003 = 4.003 x 10°




Name : 3 Score:

Answer key

~ (Scientiﬁc Notation} rosttive Mo

Example:
Write 324, 170 in scientific notation.

32417 0!

We should move the decimal point 5 places to the left. So, the exponent will be 5.
324,170 = 3.2417 x 10°

Express each number in scientific notation.

1) 2,343,600 = 2.3436 x 10°
2) 512,420,000 = 5.1242 x 10°
3) 4,600,000,000,000 = 4,6 x 10"
4) 725,000, 000 = 7.25 x 10°
5) 120,000, 000, 000, 000 = 1.2x10™

6) 100, 180, 000, 000 1.0018 x 10"

7) 81,000, 000 = 8.1x 10’

8) 14,752,000, 000 1.4752 % 10"

9) 29,540,000, 000, 000 2.954x 10"

10) 6,241,000, 000 = 6.241 x 10°




Name : ﬂ H Score:

Answer key

(et . e ) Positive: MS2
7 (Scientific Notation )

Example:
Write 985, 625 in scientific notation.

98 56 2 5!

We should move the decimal point 5 places to the left. So, the exponent will be 5.
985,625 = 9.85625 x 10°

Express each number in scientific notation.

1) 7,250,000, 000 = 7.25 x 10°
2) 872,000,000,000,000 = 8.72x 10"
3) 110,000, 000 — 1.1x 10°
4) 90, 500, 000, 000 = 9.05 x 10"
5) 28,189,000,000,000 = 2.8189 x 10"
6) 5,620,000 = 5.62 x 10°

8.7402 x 10"

7) 874,020,000, 000

8) 14,000, 000 = 1.4x 10’

9) 7,586,000, 000, 000, 000 7.586 x 10"

10) 4,460, 500, 000, 000 4.4605 x 10"

Il




Name :

Answer key

1)

11)

13)

@cientiﬁc Notation}

Score:

Negative: ES1

Example:
Write 0.0061 in scientific notation.

01070 "6¥l

We should move the decimal point 3 places to the right. So, the exponent will be -3.

0.0061 = 6.1x 107

0.0736 = 7.36 x 1072
0.0005 = 5x107*
0.00862 = 8.62x 107
0026 = 2:6:x 107
0.152 = 1.52x 107"
0.004526 = 4.526 x 103
0.089 = 8.9x 1072

Express each number in scientific notation.

2)

6)

10)

12)

14)

0.0092

0.021

0.000572 =

0.8599

0.00589

0.00067

0.18

9.2x 1073

2.1x1072

572x10™*

8.599 x 10~

5.89x107°

6.7 x 107

1.8 x 10™




Name: @

Answer key

~

Score:

Negative: ES2

- (Scientiﬁc Notation)

Example:
Write 0.82 in scientific notation.

0(8¥2

0.82 = 8.2x 10"

We should move the decimal point 1 place to the right. So, the exponent will be -1.

Express each number in scientific notation.

1) 0052 = 5.2x 1072 2) 0.0730

3) 0.0023 = 23x1073 4) 0.96

5) 09142 = 9.142 x 10 6) 0.0082
7) 0074 = 7.4x107 8) 0.0009
9) 0803 = 8.03x 10" 10)  0.0071
11) 0.0005 = 5x107* 12) 0.085

13) 0.00492 = 4.92x107° 14) 0.249

7.3x107?

9.6 x 107"

8.2x107

9x10™

7.1 % 10°

8.5x 1072

2.49% 10"




Name: 7 Score;

Answer key

- (Scientiﬁc Notation} et oyt

Example:
Write 0.00000285 in scientific notation.

We should move the decimal point 6 places to the right. So, the exponent will be -6.

0!0 0 0O 0O O 2 8 5
0.00000285 = 2.85x10™

Express each number in scientific notation.

1) 0.0000261 = 2.61x107°
2) 0.0000005724 = 5.724 x 10”7
3) 0.00000312 = 3.12x10°°
4) 0.00000000100 = 1x10°
5) 0.000000000000059 = 5.9x 107"
6) 0.0000000007 = 7x107°
7) 0.0000000088 = 8.8x10°°
8) 0.00000020 = 2x107
9) 0.000000000000176 = 1.76 x 10"

10) 0.000002905 = 2.905 x 10™°




Name:

Answer key

Score:

{Scientiﬁc Notation)

\ Negative: MS2

Example:

Write 0.000000743 in scientific notation.

We should move the decimal point 7 places to the right. So, the exponent will be -7.

0O!0 0O OO 0O 0 7 4 3
0.000000743 = 7.43 x 1077

Express each number in scientific notation.

1) 0.0000000000034 = 3.4x 107"
2) 0.0000000408 = 4.08 x 10™®
3) 0.0000000000000092 = 9.2x107™
4) 0.0000002726 = 2.726 x 10”7
5) 0.000000000000517 = 5.17x 10"
6) 0.0000045 = 4.5 x 107°
7) 0.0000002149 = 2.149 x 1077
8) 0.00000000623 = 6.23x 10
9) 0.000000000000028 = 2.8x10™™
10) 0.000000001 = 1x107°




Examgle: 1

Write 6, 224 in scientific notation,

6v¥2'274]

We should move the decimal point 3 places to
the left. So, the exponent will be 3.

Example: 2

Answer key

Write 0.0087 insc

Score :

Mixed: ES1

ientific notation,

0/0'0"'8Vv7

We should move t

he decimal point 3 places to

the right. So, the exponent will be -3,

e

\ 6,224 = 6.224 x 10° 0.0087 = 8.7 x 107
Express each number in scientific notation.
2
1) 00259 =_  2.59x107 2) 902 =  9.02x10
= 3.15%x 10"
3) 5,5820 = 5.582 x 10* 4) 0.315
- x 10%
73 9.73x 107 6) 1,0006 = 1.0006
5) 0.00973 = :
107"
8.56 x 10° 8) 0.2058 = 2.058 x
7) 856 = A
= .008 x 10°
7.2x10" 10) 5,008 = 5
9) 0.00072 = g
= 1.45%x107°
6 1.216 x 107 12) 0.00145 =
11) 0.001216= :
= 1.2x10"
14) 0.12 =
= 919 x 10*
7,5919 = 7.5

13)




Name : l D

o Answer key

-

—Scientific Notatio

n)

~

Score:

Mixed: ES2

Example: 1

Write 165 in scientific notation.

1¥65)

We should move the decimal point 2 places to
the left. So, the exponent will be 2.

165 = 1.65 x 107
\

Example: 2

Write 0.0641 in scientific notation.

0(0Y6V4 1

We should move the decimal point 2 places to

the right. 5o, the exponent will be -2.

0.0641 = 6.41 x 107

P

Express each number in scientific notation.

1) 360 = 3.6 x 10° 2)
3) 0.00584 = 5.84x 1073 4)
5] 1,073 = 1.073 x 10° 6)
7) 09861 = 9.861x 10 8)
9) 84,802 = 8.4802 x 10* 10)
11) 0075 = 7.5x107? 12)
13) 977 = 9.77 x 10° 14)

0.00091

44,268

0.0769

3,169

0.0058

18, 569

0.000026

Il

9.1x10™"

4.4268 x 10°

7.69% 107

3.169 x 10°

58x 107

1.8569 x 10*

2.6x107




. ' ‘ Answer key Score:
( (Scientiﬁc Notation) Mixed: MS1 N
i N\

Write 514, 223 in scientific notation.

51°4°2°2 31

We should move the decimal point 5 places to
the left. So, the exponent will be 5.

S 514,223 = 5.14223 x 10°

Write 0.0000083 in scientific notation.

0!0 0 00 0 8 3

We should move the decimal point 6 places to
the right. So, the exponent will be -6.

0.0000083 = 8.3 x10°®

1) 18,451,000

Express each number in scientific notation.

1.8451 x 10’

2) 0.000004826 =

4,826 x 10°°

3) 5,820,000, 000, 000

5.82 x 10%

4) 0.000000007269 =

7.269x 10°°

5) 350, 100, 000, 000, 000 =

3.501 x 10"

6) 0.00000000000014

1.4x10™"

7) 71,300,000

7.13x 10’

8) 0.00000002164

2.164 x 10°®

9) 30,000,000, 000,000 =

3x10"

10) 0.0000642 =

6.42 x 10°°




A

N ; y
ame Nweruan key Score:
(et . e Mixed: MS2
- \Scientific Notation ~
/Examgle: 1 Example: 2 .

Write 324, 170 in scientific notation.

32 °4°1°7 0.

We should move the decimal point 5 places to
the left. So, the exponent will be 5.

324,170 = 3.2417 x 10°

Write 0.0000032 in scientific notation.

0!0 0 0 0 0 3 2

We should move the decimal point 6 places to
the right. So, the exponent will be -6.

0.0000032 = 3.2x10°°
J

1) 0.000037 =

Express each number in scientific notation.

3.7x10°

2) 5,725,000, 000 =

5.725 x 10°

3) 0.00000004259

4.259x10°

4) 100, 020 =

1.0002 x 10°

5) 0.000000000000081

8.1 x10™

6) 785,120,000 -

7.8512 x 108

7) 0.00000956 =

9.56x 10°°

8) 20,000, 000, 000 =

2x10"

9) 0.000000001256 =

1.256 x 10°°

10) 2,915, 000 =

2.915x10°




wome: | 3

Answer key

Score:

écientiﬁc Notation - Standard

-

Positive: ES1

\E

Example:

88 2%1

Write 8.821 x 10° in standard notation.

8.821 x 10* = 882.1

Here the exponent is 2. We should move the decimal point 2 places to the right.

1) 7.452x10

3) 5.9004 x 10*

5) 8.15x 10°

7) 6.1425 x 10°

9) 3.1478 x 10*

11) 7.586 x10

13) 4.7126 x 10°

Express each number in standard notation.

74.52 2)
59,004 4)
815 6)
6142.5 8)
31,478 10)
75.86 12)
4712.6 14)

1.9824 x 10* =

5237 x 10°

9.011x10°

1.4592 x 10°

6.982 x 10°

1.1286 x 10*

9.14 x 10?

19,824

5,237

901.1

145,920

6,982

11,286

Il

914




Name :

|4

Answer key

Score:

écientiﬁc Notation - Standar@

Positive: ES2

Example:

Write 7.1 x 10° in standard notation.

Here the exponent is 3. We should move the decimal point 3 places to the right.

7(170 0"

7.1 x10* = 7,100

Express each number in standard notation.

1)

1)

13)

3.1056 x 10°

82.456 x 10"

1.5812 x10°

9.256 x 10

1.15 % 10°

7.2567 x 10°

6.27 x 10?

= 310.56

- 824, 560

= 1581.2

- 91.56

= 115,000

= 7256.7

= 627

2)

10)

12)

14)

241 x 107

5.0237 x 10*

4210x10°

24516 x 10°

3.2x10

5.7605 x 10°

85.221 x 107

241

50,237

4,210

245,160

32

576, 050

852,210

=




Name:

S

Score :

Answer key

@ientiﬁc Notation - Standar@ Positive: MS1

Example:

Write 5.21236 x 10° in standard notation.

Here the exponent is 5. We should move the decimal point 5 places to the right.

502°1°2°3°6

521236 x 10° = 521,236

1)

2)

6)

7)

10)

Express each number in standard notation.

3.6212x 10° = 362, 120, 000
1.345 x 10° = 134, 500

462 x 10" = 46, 200, 000, 000
7.2x 10’ = 72, 000, 000
2.853 x 10% = 2, 853, 000, 000, 000
8.5925 x 10° = 8,592, 500, 000
1.24x10° = 124, 000
5.019x 10° = 501, 900, 000
62.025 x 10" = 6,202, 500, 000, 000
2.4 % 10° = 2,400, 000




Name :

Score:

Answer key

(Scientific Notation - StandarcD

Positive: MS2

Example:

Write 2.97853 x 10° in standard notation.

Here the exponent is 5. We should move the decimal point 5 places to the right.

21977853

2.97853 x 10° = 297, 853

Express each number in standard notation.

1)

10)

5.2564 x 10° = 5,256, 400, 000

9.42 x 10’ = 94,200, 000
3.6653 x 10" = 36, 653, 000, 000, 000
7.987 x 10" = 7,987, 000, 000, 000, 000
6.2 x 10° = 6,200, 000, 000
2.5856 x 10° = 258, 560, 000

4.002 x 10" = 4,002, 000, 000, 000
1.25x 10" = 125, 000, 000, 000
9.5269 x 10° = 9,526,900

3.415 x 10" = 3,415, 000, 000, 000

\




Name: l 7 Score:

Answer key

e

4 (Scientific Notation - StandarcD Hegative: 51

Example:
Write 9.52 x 102 in standard notation.

Here the exponent is -2. We should move the decimal point 2 places to the left.

0¥0"9)5 2

9.52 x 10?% = 0.0952

Express each number in standard notation.

1) 85x1072 = 0.085 2) 6.13x10* = 0.000613

3) 2.0712x10° = _ 0.000020712 4) 5.0015%x107 = 0.0050015
5) 4.155x10° = 0.004155 6) 8.075x107 = 0.08075
7) 74x10* = 0.00074 8) 9.2x10™ = 0.92

9) 14258x 107 = 0.14258 10) 298x10™* = 0.000298
11) 9.01x10* = 0.000901 12) 1.7206%x 107 = 0.0017206

13) 3.7026x 107 = 0.037026 14) 869x10° = 0.0000869




Name: , 8 Score:

Answer key

p @cientiﬁc Notation - StandarcD e

Example:
Write 1.005 x 10”2 in standard notation.

Here the exponent is —3. We should move the decimal point 3 places to the left.

OmOOS

1.005x 10™% = 0.001005

Express each number in standard notation.

1) 2.01x102% = 0.0201 2) 5.145x107° = 0.005145

3) 8526x10° = _ 0.00008526 4) 9.04x107 = 0.0904

5) 6.4822x107 = 0.0064822 6) 1.2516x10” = 0.000012516

7) 59x10 = 0.59 8) 442x10* = 0.000442

9) 1.05x107 = 0.00105 10) 7.825x 107 = 0.07825
11) 4296x 107" = 0.0004296 12) 9.072x107 = 0.9072

13) 7.0254x1072 = 0.070254 14) 3.5426x10™ = 0.000035426




19

Write 3.2 x 10°% in standard notation.

Here the exponent is -6. We should move the decimal point 6 places to the left.

00 000O03!2

32x10°° = 0.0000032

Name: Score:
Answer key
~ @cientiﬁc Notation - Standar@ egie ]
Example:

Express each number in standard notation.

1)

2)

10)

1.569 x 107" = 0.00000000001569
5.02x 107 = 0.000000502
9.0012x 107 = 0.0000000000090012
6.89 x 10 = 0.0000689

2,153 x 107" = 0.0000000000002153
9.42x 107 = 0.0000000942
4016 x10™ = 0.000000000004016
7.11x10°® = 0.00000711
3.752x10™ = 0.00000000003752
84x107 = 0.000084




Name : 2 O Score:

Answer key

\

- (Scientific Notation - StandaroD Negalve 2

Example:
Write 7.258 x 10™ in standard notation.

Here the exponent is -5. We should move the decimal point 5 places to the left.

00 000 7!258

7.258 x 10™ = 0.00007258

Express each number in standard notation.

1) 245x10™" = 0.00000000000245
2) 6.0012x 107 = 0.0000000060012
3) 1.286%107" = 0.0000000000001256
4) 59x10° = 0.0000059

5) 4.013x10™ = 0.000000000000004013
6) 8.3692x 107 = 0.0000000083692
7) 511x10™" = 0.000000000000511
8) 6.859x 107 = 0.00006859

9) 1.7425x 107" = 0.0000000000017425

10) 9.52x10° = 0.00000952
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Name : Answer key Score:
(C - . . 1 Mixed: ES1
- ( Scientific Notation - Standard ) N
e
Example: 1 Example: 2

Write 3.25 x 10% in standard notation.

Here the exponent is 2. We should move the
decimal point 2 places to the right.

325V

3.25%x 10 = 325

A

Write 8.76 x 102 in standard notation.

Here the exponent is -2. We should move the
decimal point 2 places to the left.

0%0"8)7 6

8.76 x 107 = 0.0876

1) 9.63x107% = 0.00963

3) 3.042x10*° = 304.2

5 9.105x107?% = 0.09105

7) 6.1x10° = 61,000

9) 29854x107" = 0.29854
11) 1.05x10° = 105
13) 4.172x10% = 0.0004172

Express each number in standard notation.

2) 51146x10° = 5114.6
4) 7.259x10" = 72, 590
6) 6.5%x107 = 0.000065
8 9.8x10™ = 0.98
10) 8.432x10" = 84, 320
12) 2.8502x 1073 = 0.0028502

14) 9.7x10° = 970, 000




Name : 2 2, ARSVIaT key Score:
- fécientiﬁc Notation - Standa@ =
Ve
Example: 1 Example: 2

Write 7.928 x 10% in standard notation.

Here the exponent is 2. We should move the
decimal point 2 places to the right.

7(9Y2Vg

Write 1.62 x 107 in standard notation.

Here the exponent is -3. We should move the
decimal point 3 places to the left.

0¥0" 0 16 2

7928 x 10° = 792.8 1.62x10° = 0.00162
\_ J

Express each number in standard notation.

1) 8526x10° = 0.00008526 2) 3.984x10° = 3,984

3) 5.905x10° = 590.5 4) 5562x107% = 0.05562

5) 4.862x 1072 = 0.004862 6) 1.025x10° = 10, 250

7) 7.2459x10* = 72,459 8) 8.4002x 10" = 0.00084002

9) 3.526%x102 = 0.03526 10) 6.182x10° = 6,182

11) 9.1x10° = 910, 000 12) 1.1286x 107 = 0.011286

13) 1.825x 107 = 0.1825 14) 824 x10° = 8, 240
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Name : Score:
Answer key
/ - -ﬁ » d\ Mixed: MS1
7~ ( Scientific Notation - Standard ) =
4 ™\
Example: 1 Example: 2
Write 4.32215 x 10° in standard notation. Write 3.7 x 10 in standard notation.
Here the exponent is 5. We should move the Here the exponent is -6. We should move the
decimal point 5 places to the right. decimal point 6 places to the left.
413°2° 2 15 000000 3!7
432215 x 10° = 432,215 3.7x10™° = 0.0000037
N J

Express each number in standard notation.

1)

10)

462 %108

1.2561 x 107°

9.082 x 10"

54x107

3.5624 x 10"

7.5005 x 107"

1.28 x 10°

2119 % 107"

8.0025 x 10°

3.1%x107°

462,000, 000

0.000012561

908, 200, 000, 000

0.00000054

35,624,000,000,000

0.0000000000075005

128,000, 000

0.0000000002119

8,002,500

0.0000000031




24

Name : Score:
Answer key
& L . Mixed: MS2
. @aentlﬁc Notation - StandaroD ~
4 N
Example: 1 Example: 2
Write 7.2001 x 10° in standard notation. Write 5.4 x 10 in standard notation.
Here the exponent is 5. We should move the Here the exponent is -6. We should move the
decimal point 5 places to the right. decimal point 6 places to the left.
7120010 000 00 O05!'!4
7.2001 x 10° = 720,010 54%107° = 0.0000054
N J

Express each number in standard notation.

1) 9.203x107° = 0.0000000009203
2) 2.1569 x 10° = 215, 690, 000

3) 8.006x 107" = 0.0000000000008006
4) 5.18x 10" = 51, 800, 000

5) 6.0155x 107" = 0.00000000060155
6) 7.042 x 10" = 7,042, 000, 000, 000
7) 41x10° = 0.0000041

8) 1.256 x 10° = 1,256, 000, 000
9) 6.48x 10" = 648, 000, 000, 000, 000

10) 5.4105x 107" =

0.0000000000054105




Name: Z 5 Score :

Answer key
- @tandard and Scientific Notation@ Mixed: E1

Express each number in scientific notation.

1) 0.0056 = 5.6 x 1073 2) 24,010 = 2.401x10°

3) 4,085 = 4.085x10° 4) 0.017 = 1.7 x 1072

5) 0.000796 = _  7.96x10™" 6) 952 = 9.52 x 10?

7) 50,413 = 5.,0413x10* 8) 0.004 = 4x10°

Express each number in standard notation.

9) 2445x10° = 2,445 10) 1.04x10™" = 0.000104
11) 9.165x102% = 0.09165 12) 5962x10° = 5,962
13) 22x10° = 0.000022 14) 3.12x10" = 0.312
15) 8.0447 x10* = 80, 447 16) 1.278x10* = 127.8




wme: 2 (5

Score:

Answer key
- @andard and Scientific NotationB Mixed E52

Express each number in scientific notation.

1)  0.00245 = 245x10°3 2) 6,072 = 6.072x10°

3) 1,000 = 1x10° 4) 0.245 = 2.45x10™

5) 30,485 = 3.0485 x 10* 6) 156 = 1.56 x 10%

7) 0.0568 = 568x1072 8) 0.0007 = 7x10™*

Express each number in standard notation.

9) 983x10* = 0.000983 10) 3.987x10* = 39, 870
11) 6.206x10*> = 620.6 12) 5x10° = 500, 000
13) 7.6x10° = 7, 600 14) 71x10* = 0.00071
15) 152x10" = 0.152 16) 6.25x10° = 625




Name : 2 7 Score :

Answer key

@tandard and Scientific Notation@ Mixed: MS1

il N
Express each number in scientific notation.

1) 0.0000056 = 56x107°

2) 90,825,000 = 9.0825 x 10’

3) 745,000 = 7.45 x 10°

4) 0.0000000377 = 3.77x10°

5) 100, 000, 000 = 1% 10"
J
N

Express each number in standard notation.

6) 1.028x 10’ = 1,028, 000, 000
7) 5.61x10™" = 0.0000000000561
8) 4.128 x 10" = 41, 280, 000, 000
9) 29x107° = 0.000000029

10) 6.542 % 107" = 0.000000000006542




Name: 2 8 Score:

Answer key

@tandard and Scientific Notation@ Mixed: MS2

-
Express each number in scientific notation.
1) 0.00000927 = 9.27 x 10°®
2) 85,000,000 = 8.5x 10’
3) 4,202,100 = 4,2021 x 10°

4) 0.000000000037 = 3.7x 10"
5) 1,000,000, 000 = 1%x10°
\
Express each number in standard notation.
6) 6.024x 107" = 0.0000000000006024
7) 2.13x 10" = 213, 000, 000, 000
8) 1.2x10% = 0.000000012
9) 3.7x107° = 0.0000000037

10) 5.002 x 10° = 5,002, 000




Name:: 2 Ci Answer key Score:

@qentlﬁc Notatlon) Mul/Div: ES1
J Simplify and express in scientific notation:
Example 1 Example 2
(6% 10% (2 x10%) 6
J8EID = 18 oinex i
6x10% (2x10°) =12x10°%x10° 4x10 4
= 12%10° = 45x10°
= 1.2x10°

)

Simplify each problem and express the answer in scientific notation.

1) (7% 10% (9 x 10°) 5 3x10°
8x10
Answer : 6.3x 10" Answer : 3.75 x 102
3) 4x10° 4) 2x10% (3% 10%
5% 107
Answer : 8x10 Answer : 6x 10’
5) (3% 107) (9 x 10°) 6) 4x10°
~ % 16 x 10°
Answer : 2.7x 10" Answer : 2.5 x 102
7) 9x10° 8) (11x10% (7 x 10%)
10x 10°
Answer : 9x10 Answer : 7.7 x107




50

Name :

Answer key

Score:

@cientiﬁc NotatiorD

Mul/Div: ES2

J Simplify and express in scientific notation:

Example 1
6
6x10°  _ 6 ,105% 10"
8 x10? 8
= 7.5%x10

~

Example 2
(8 x 10%) (6 x 10%)
8x 10 (6x10°) = 48x10°x10°
= 48x10°
= 4.8x10°

Simplify each problem and express the answer in scientific notation.

7
1 2510 2) (4% 10% (6 x 10°)
4 x10*
Answer : 1.25 x 103 Answer : 2.4x10%
4
3) 3x10%(2x10) —
8x10
Answer : 6x10° Answer : 1.875 x 10?
8
g JZXTE 6) (9x 10° (4 x 10%)
4x10°
Answer : 4.25x 103 Answer : 3.6 x10°
9
7) (2x10% (7 x 10°% g) 20x10
1x10’
Answer : 1.4 % 10" Answer : 2x10°
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Name : Answer key Score :
[Saentlﬁc Notatlon) Mul/Div: MS1
L/ Simplify and express in scientific notation:
Example 1 Example 2
6 9
(5x10°%) (7 x 10°) 9 % 10° 9 \ ,
5 i 5 —— = — X10°X 10

(5x10° (7% 10% = 35x10°%x 10 8x10 8
= 35x 10" = 1125%10"
= 3.5% 10"

&

Simplify each problem and express the answer in scientific notation.

-5
1) (2x107) (9% 107) 2) 12x10°
4% 107
Answer : 1.8 x 10° Answer : 3.75 x 102
-7
15x10° 4) (9% 10% (7 x 10°)
16 x 10
Answer : 9.375x 1073 Answer : 6.3 x 10"
i i 7% 107
5 (8x107)(3x10° 6) ———
) ) ) 16 x 10?
Answer : 2.4x%x10" Answer : 4.375 % 10°°
4 x10°
1>>:1o4 8) (4% 10% (4 x 10"
Answer : 4% 10° Answer : 1.6 x 10"




22

Name :

Answer key

Score :

(Scientiﬁc NotatiorD

Mul/Div: MS2

J Simplify and express in scientific notation:

Example 1 Example 2
9 8 4
5><1O6 _ ixmgxm_ﬁ (7x10%) (9% 107
16 x 10 16 (7x10%(9%x10% = 63x10°x 10°
= 3.125x 107 = 63 x 10"
(\ = 6.3x10"
Simplify each problem and express the answer in scientific notation.
-7
1) 21x107 2) (12x107%) (8 x 107)
4 x 10
Answer : 5.25x 107° Answer : 2.6 x 10"
_ 13x107®
3) 2%x10%(5x107? =
) 8x10™
Answer : 1x10° Answer : 1.625%x 107*
3
5 2X10° 6) 6x107) (3% 10°)
4x107
Answer : 2.25 x 108 Answer : 1.8x10°
4
7) (4x10)(13%10% gy 2/x10
10 x 108
Answer : 5.2 % 10’ Answer : 2.7x107°




. &

Answer key Heares

@cientiﬁc Notation)

Mul/Div: DS1

J Simplify and express in scientific notation:

Example 1 Example 2
25x10° _ 25 T 5 T3 (3.5x10%(0.4x 107)
05x10° 05 (35%10% (04x107) = 14x10°x 107
— 5%10° = 14%x107
Simplify each problem and express the answer in scientific notation.
) 814x10° 2) (0.6 x 10% (1.4 %10
2x10%
Answer : 4.07 x 1072 Answer : 8.4x 10’
5
3) % 4) (4.02% 10" (0.9 % 107
Answer : 4.8x10" Answer : 3.618 x 10°
5) (3.7%10%) (64%10) 6) 510x10°
06x107°
Answer : 2.368 x 1077 Answer : 8.5x10"
-3
H 8) (0.2 10) (7.2 x 10
Answer : 3.475x 107"

Answer : 1.44 x 10°




A4

Name : Answer key Score :
(Saentlﬁc Notatlon) Mul/Div: Ds2
J Simplify and express in scientific notation:
Example 1 Example 2
3.45x 107 3.45 <3 7
4 6 = x 107 x10
(5.2 x10% (4.7 x 10°) 025x107 _ 025
(5.2 x10% (4.7 x 10° = 24.44 x10*x 10° - 13.8%x 10
= 2.444 x 10" = 1.38x10°

)

Simplify each problem and express the answer in scientific notation.

6
1) (0.82x10) (0.2 x 10°) gy LK,
0.3 %10
Answer : 1.64 x 10° Answer : 1.5x 1073
0.7 %107 ,
3) ST 4) 1.6%x10)(1.3x107)
Answer : 7%x10° Answer : 2.08x10°°
412 %107
5) (6.9 107)(0.5%x 107 e
) (6.9x107°)(0.5%x10™) 6) 04 %107
Answer : 3.45%x 107 Answer : 1.03 x 10°
7.8x%x10°
7 N b B 7 3
) 13102 8) (0.4 x 107 (0.1 x 10%)
Answer : 6x10° Answer : 4x%x10°%




Name : 3 5 Answer key Score:

@cientiﬁc Notation) Add/Sub: ES1

J Simplify and express in scientific notation:
Example 1

(2x10% + (3 x10°)

= (Zx10%+ (3% 10%) 10

= (2x 109 + (30 x 107

= 32x10*

O”\ = 3.2x10°

Example 2

(7 %10% - (4x10%

= (7% 10% x 10*- (4 x 10°%)
(700 x 10° - (4 x 10°)
696 x 10°
6.96 x 10°

Il

Simplify each problem and express the answer in scientific notation.

1) 2x10% +(5x10°

Answer : 5.02 x 10°

2) (4x10%-(9x 10

Answer : 3.1 x 10°®

3) (8x10%)-(3x10)

Answer : 7.97 x 10°

4) (5x%x100+(1x10%

Answer : 5.1 x 107

5) (4x10%+(7x10%

Answer : 7.4%x10°

6) (9x10% -(6x10%

Answer : 8.4x10°

7) (1x10%-(8x10%

Answer : 9.2x10°

8) (5x10°) +(3x10%

Answer : 5.3 x10°




Name : 3 (o Answer key Score:

(Scientiﬁc Notation) Add/Sub: ES2

L/ Simplify and express in scientific notation:

= Example 1 Example 2
n (4%x10%)-(2x10% (9x10% + (6% 107)

= (4x10)x10-(2x10%) = (9% 10°) + (6 x 10%) x 10?
B = (40 x 10%) - (2 x 107 = (9% 10°) + (600 x 10
— = 38x10° = 609 x 10°
o’\ = 3.8x10° = 6.09x 10’
-

Simplify each problem and express the answer in scientific notation.

1) (6x10%-(3x%x10% 2) (5x10% +(10x%x10%)
=
Answer : 5.97 x 10° Answer : 6 x10°
| 3) (7x107) +(4x 10 4) (3x10%-(2x10%
=
= Answer : 7.4%x10° Answer : 2.98 x 10*
= 5) (5x10%-(8x10% 6) (8x10% +(9x10°
==
Answer : 4.2 x10° Answer : 8.9 x 10°
=
| 7) (2x10°%) + (7 x 10 8) (4x10%-(3%x10")
= Answer : 2,07 x 102 Answer : 3.7 x10°8




Name : 3 7

Answer key Score:

@cientiﬁc Notation) Add/Sub: MS1

k} Simplify and express in scientific notation:

Example 1
(6 x 10°) + (5 x 10%)
= (6x10% + (5% 10%) x 10°
= (6 x 10%) + (5000 x 10%)
= 5006 x 10

f\ = 5.006 x 10°

Example 2
(3x107%)-(2x107°)
=(3x10°%x10°-(2x107)

(3000 107%) - (2 x 107°)

2998 x 10°°

2.998 x 10>

Simplify each problem and express the answer in scientific notation.

1) 3x102)-(6x%x107)

Answer : 2.994 x 1072

2) (8x10%) +(5x107

Answer : 8.0005 x 10°

3) (7x10)+(4x10%

Answer : 7.004 x 10’

4) (9%x107)-(6x107)

Answer : 8.94x10°

5) (5x10°%-(8x10%

Answer : 4,992 x 10°

6) 6x107)+(7x10™

Answer : 7.006 x 107°

7) 3x107°)+(5%107)

Answer : 5.0003x 10

8) (2x10%-(4x10%

Answer : 1.996 x 10°




wme: 'R

Answer key

Score:

(Scientiﬁc Notation)

Add/Sub: MS2

Example 1
(3x10% + (7% 10%)
= (3x10%) x 10%+(7x 10
= (300 x 10°) + (7 x 10%)
= 307 % 10?

Df\ = 3.07 x 10*

J Simplify and express in scientific notation:

Example 2
(5%107%) - (2% 107"
= (5% 10 x10° - (2x 107
= (5000 x 10%) - (2x 107
4998 x 107
4,998 x 107

Il

0

Simplify each problem and express the answer in scientific notation.

0

1) (4%x10)-(2x%x107

Answer : 3.998 x 10°

2) (9x10%+(7x10)

Answer : 9.007 x 10*

3) (6x103)-(3%x107)

Answer : 5.9997 x 1073

4) (5%10°) - (8% 107

Answer : 4.992 x 10°

5) (4x10% + (7 x 109

Answer : 7.004 x 10®

6) 2x10)-(8x107

Answer : 1.992 x 10

7) 5x107)-(3x%x107)

Answer : 497 x 1077

8) (9%x107°) +(6x107?)

Answer : 6.009 x 1072




Name:

3

Answer key

Score :

CScientiﬁc Notation)

Add/Sub: DS1

\) Simplify and express in scientific notation:

Example 1
(1.2%x10%) + (3.04 x 10°)

= (1.2x10%) + (3.04 x 10%) x 10°
= (1.2 x 10% + (3040 x 10?)

= 3041.2 x 10

= 3.0412x10°

Example 2
(5.54% 10 - (2.32x 1079

= (554 x10%) x 10*-(2.32x 107
(554 x 10 - (232 x 107
551.68 x 10°®

5.5168 x 10™°

I

Simplify each problem and express the answer in scientific notation.

0

Q

1) (23%x10% +(4.16 x 10))

Answer : 4.1623 x 107

2) (94x10%)+(3.8x107

Answer : 9.4038 x 10

0

3) (6.07 X107 -(4.52%x 107

Answer : 5.618 x 10

4) (7.98x107)-(1.24x10°)

Answer : 7.9676 x 107

5) (5.692x 10 + (8.8 %107

Answer : 6.572x 107

6) (4.6x10%-(2x107)

Answer : 4.,5998 x 10°?

7) (9.18 x10% - (3.9 x 109

Answer : 9.1761 x 10°

8) (1.7%x10™") +(6.504 x 10%)

Answer : 6.5057 x 10?




ome: A D)

Answer key

Score :

(Scientiﬁc NotatiorD

Add/Sub: DS2

0]

k} Simplify and express in scientific notation:

Example 1
(2.5%10°% + (8.13 x 10%)
= (2.5%10°% + (8.13 x 10° x 10?

= (2.5x10% + (813 x 10°
= 815.5x10°

\ = 8.155x 10°

Example 2
(1.04x 107 - (5.9 % 107)

= (1.04x107) x 10> - (5.9x107)
= (1040 x 107) - (5.9x 107)

= 1034.1x 10

= 1.0341x 107

Simplify each problem and express the answer in scientific notation.

1) (9.63x10% + (4 x 10°)

Answer : 9.6304 x 10°

2) (6.24%x107%) +(7.1x107)

Answer : 6.95 x 1072

0]

0]

3) (2.19x107)-(1.8x 1078

Answer : 2.01x10”

4) (3.62x1072) +(7.8x107)

Answer : 3.6278 x 1072

5) (4x10%+(6.17 x107)

Answer:  6.1704 x 107

6) (9.67 x10° - (5.1x 10

Answer : 9.6649 x 10°

7) (8.28x107°) -(4.1x107)

Answer : 8.239x 107

8) (2.6x10™") +(3.48 x10?

Answer : 3.4826 x 10?




H |

N : S :
ame Answer key core
. . . Mixed tions: EST
{Saentlﬁc NotatlorD  — e
W
Simplify each problem and express the answer in scientific notation.
5 4 7 x 10°
1) (8x10°)+ (5x107) 2) 5% 10°
Answer : 8.5 x 10° Answer : 3.5x10°
3) 3x10%-(5%10%) 4) (4x10)(2x10°
Answer : 2.95x 10* Answer : 8 x 10*
3
5) 2x10 6) (8x10% (3 x10%
2x10
Answer : 4.5x%x10% Answer : 2.4%x10°
7) (5x10% - (3x10°% 8) (7x10% +(6x10)
Answer : 497 x 10° Answer : 6.07 x 107
9) (4><102)+(9><104) 10) (2><1O3)(5><104)
~ Answer : 9.04 x 10* Answer : 1x10°




Name :

o L

Answer key

Score:

/

@cientiﬁc Notation )

\ Mixed operations: ES2

Simplify each problem and express the answer in scientific notation.

~

1) (5x10%) +(2x10% 2) (3x10°%-(8x10%
Answer : 2.05x10° Answer : 2.92 x 10°
5
3) (5% 10° (7 x 10%) 4) 9x10
6 x 10?
Answer : 3.5x 10" Answer : 1.5x10°
5) (8x10%- (7x10% 6) (2x10°) (5x10%
Answer : 7.993 x 108 Answer : 1x10"
5
7y LixT0 8) (10x 10 + (9% 10%
4%10
Answer : 2.75 x 103 Answer : 9.1 x 10*
9) (7x10% +(5x 109 10) (4% 107) (6 x 10°)
~ Answer : 7.05 x 108 Answer : 2.4x 10"




ames___ 1.3

S g
Answer key ore
® ° . M d i MS1
(Scientific Notation) Ll e ~
W 3 )
Simplify each problem and express the answer in scientific notation.
1) 6x107°)+(2x107) 2) (9x10% (5% 10
Answer : 2.0006 x 107 Answer : 4.5 x 10"
8x10° 9 6
3 4) (3x10°)-(2x10
) 4% 107 ) ( ) - ( )
Answer : 2x 107 Answer : 2.998 x 10°
5) (9%10%)-(3x107) 6) (7x10% +(6x10)
Answer : 8.9997 x 10? Answer : 6.007 x 107
3x 10”7
7) (5x10%(4x%10° 8
) ) ( ) ) 8% 107
Answer : 2 x 10 Answer : 3.75%x10°°
9) 2x10°+(7x107) 10) (5x10%)(5%x10™
Py Answer : 7.002 x 1073 Answer : 2.5x 10°




Name:

HY

Answer key

W,

@cientiﬁc NotatiorD

Score :

Mixed operations: MS2

Simplify each problem and express the answer in scientific notation.

N

1) (4x102)-(6x%x107) 2) (10x10%) +(2x10)
Answer : 3.994 x 107 Answer : 2.001 x 10’
6 x 10° -9 -6
3 4) (5%x10°)(7x10
) SVETY ) ) ( )
Answer : 1.2x10° Answer : 3.5x 10"
5) (8x10%-(5x%x10° 6) (9x10)+(6x107
Answer : 7.995 x 10° Answer : 9.006 x 102
7) 2x107)(5x1073 8) (4x10%+(3x10%)
Answer : 1x107° Answer : 3.0004 x 10’
-9
9) (10x10%)-(2x10%) 1g) BX10
5x10
~ Answer : 9.998 x 1073 Answer : 1.6 x107*




.

S ;
Answer key core
. ° ° M d t DS]
(Scientific Notation ) —— ~
) (s g,
Simplify each problem and express the answer in scientific notation.
4
g BT 2) (7.1x107%) +(5.02x 10
1.6 x10
Answer : 2x10% Answer:  7.1502x 1072
3) (48x10%-(9.7x10% 4) (6.18 x 107 (8.7 x 10%)
Answer : 4.703 x 10° Answer : 5.3766 x 10°
7
5) (5.98x107%) +(3.4x10™ 6) M—?—
5% 10
Answer : 6.014x 107 Answer : 4.3x10°
i _ 5.4 % 10?
7 (2 107) (8. 2 A
) (2.08x107)(8.1x10™) 8) 2% 10"
Answer : 1.6848 x 107" Answer : 4.5 % 10°
9) (6.5x107)-(3.1%x10% 10) (1.98 x 107%) + (5.2 x 107
~ Answer : 6.4969 x 10’ Answer : 1.9852x 1073




wame: (o

S :
Answer key core
. . . Mixed ti :DS2
_(Scientific Notation) S ~
W, \ D,
Simplify each problem and express the answer in scientific notation.
1) (4.02x107) -(6.8x107 2) (6.4 x10% + (2.8 x107)
Answer : 3.34x 107 Answer : 2.8064 x 10’
4
3) 112x10° 4) (7.63%107%) (2.7 % 10™)
2.8 % 10?
Answer : 4%x10 Answer:  2.0601x 107
5) (4.08 x 10%) -(5.1 %107 6) (2.9x10% +(8.63 %10
Answer : 4.0749 x 10? Answer : 8.6329 x 10°
-7
7) (6.44% 10° (7.8 X 10%) gy 13x10
6.5x% 107
Answer : 5.0232x 10° Answer : T G
9) (9.78x107)-(7.2%x10°) 10) (2.4%x10% +(1.89 % 10°)
~ Answer : 9.7728 x 1073 Answer : 2.13x10°




